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7 100kN/ Mm% 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0oo ~ 770 9882 | #nWS | 000 ~ 7.70)| 2.04 10.90 st 1.00 | 6.00 ~ 10.86 98.82 | #nLs | 5.00 ~ 1086 2.04 10.90
2 100kN/m##8x5 | 1.00 | 0.00 ~ 051 107.49 |3mZBAB| — ~ — — — | 100kN/mZz#B25 | 1.00 | 10.72 ~ 1224| 10749 |3mE#Z5 - ~ — — —
s 1.00 | 051 ~ 829 100.00 | =0t | 000 ~ 829\ 2.10 11.21 st 1.00 | 6.00 ~ 1072 100.00 | =5t | 6.00 ~ 1224)| 2.10 11.21
3 100kN/mM%#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 5.74 71.78 | #nhLS | 000 ~ 574| 1.93 10.32 st 1.00 | .00 ~ 6.90 71.78 | #hSY | 6.00 ~ 6.90| 1.93 10.32
4 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 685 86.68 | NS | 000 ~ 685 2.04 10.94 st 1.00 | .00 ~ 9.99 86.68 | TnLS | 500 ~ 9.99 | 2.04 10.94
5 100kN/m%E#8z5 | 1.00 | 000 ~ 1.93| 129.72 |3mE#Bz5| — ~ — — — | 100kN/mMZz#B25 | 1.00 | 1053 ~ 17.74| 129.72 |3m&E#Z5 - ~ — — —
s 1.00 | 193 ~ 971 100.00 | =ns | 0.00 ~ 9.71 | 2.36 12.63 st 1.00 | 6.00 ~ 1053 100.00 | =5 | 6.00 ~ 17.74| 2.56 12.63
P 100kN/m#z#Z5| 100|000 ~ 195 130.12 |3m&E#BZB| — ~ — — — | 100kN/ %825 | 1.00 | 1054 ~ 17.66| 130.12 |3m&E#Z5 - ~ — — —
s 1.00 | 195 ~ 974 100.00 | =0t | 000 ~ 9.74 | 2.41 12.88 st 1.00 | 6.00 ~ 1054 100.00 | =St | 6,00 ~ 1766 2.41 12.88
- 100kN/m#E#Z5| 100|000 ~ 145 121.98 |3mZE#ZB| — ~ — — — | 100kN/ %25 | 1.00 | 11.07 ~ 1705 121.98 |3m%x#Ez% - ~ — — —
Fhilst 100|145 ~ 923\ 100.00| ThiH | 000 ~ 923|222 11.86 FhLst 1.00 | 6.00 ~ 1107 100.00| FhLS | 5.00 ~ 17.05] 2.22 11.86
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ st ~ zhnst ~
100kN/mM%EZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ st ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ st ~ zhnst ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ st ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ st ~ zhnst ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ st ~ st ~
100kN/mM%E{BZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ st ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBZD ~
ZhLst ~ ZhnLst ~ st ~ st ~ _




